Trace plot, j=1, k=3, Normal data, simulation run 6

Bajk’ a=5 Bajk’ a=4

-1 : ' : -20 : : :
0 500 1000 1500 2000 0 500 1000 1500 2000
Ubjk’ b=22
20 ; ;
0 || | |
_20 s s s 0 2 USRI W TR N . PRARIET VT P Py p Ve
0 500 1000 1500 2000 0 500 100 1500 2000
cpbjk, b=22 anjk, a=5
4 T
O.LLLA.M'"L-" "Jll i ‘ L ™ ‘ll L‘lm"
0 500 1000 1500 2000 0 500 1000 1500 2000
A2 012
(V) v9)

0.5
i
0 . . . : X PNY Ak
0 500 1000 1500 2000 0 500 1000 1500 2000
U2 g i e
(vaj) ,a=5,j=1 naj, a=5, j=1
1
0.5 [y
T A il . |
0 500 1000 1500 2000 0 500 1000 1500 2000

Postereior mean Credible interval — True value



